
Hubbell Part
Number Description

A322065 6870 J0870
6" Expanding Anchor with 
1/2" Nut Retainer

12 24 57 288 1,390 42x42x42

A322088 88115 J8115
8" Expanding Anchor with 
3/4" Nut Retainer

6 30 51 180 1,552 42x42x43

A322812 88135 J8135
8" Expanding Anchor with 
3/4" Nut Retainer

6 30 51 180 1,552 42x42x43

A322813 88135-1 J8135-1
8" Expanding Anchor with 
1" Nut Retainer

6 30 51 180 1,552 42x42x43

A322813-NNR J8135-1-NNR
8" Expanding Anchor with 
No Nut Retainer

6 30 51 180 1,552 42x42x43

A322103 1082-3/4 J8200-3/4
10" Expanding Anchor with 
3/4" Nut Retainer

4 12 71 48 874 42x42x39

A322102 1082 J8200-1
10" Expanding Anchor with 
1" Nut Retainer

4 12 71 48 874 42x42x39

A322123-1 1283-1 J0283-1
12" Expanding Anchor with 
1" Nut Retainer

2 18 58 36 1,066 42x42x41

A322123 1283 J0283
12" Expanding Anchor with 
1 1/4" Nut Retainer

2 18 58 36 1,066 42x42x41

XP16 X16 J3516
16" Cross Plate Anchor 
with 3/4" Nut Retainer

6 36 59 216 2,128 42x42x49

XP20 X20 J3520
20" Cross Plate Anchor 
with 3/4" Nut Retainer

4 20 62 80 1,262 42x42x43

XP20-1 X20-1 J3520-1
20" Cross Plate Anchor 
with 1" Nut Retainer

4 20 62 80 1,262 42x42x43

Grip-Tite Utility Anchors

Weight / 
Carton

Anchors / 
Pallet

Weight / 
Pallet Pallet Size

MacLean Part 
Number

Grip-Tite Part 
Number

Anchors / 
Carton

Carton / 
Pallet

Effective Date: 8.13.2021
Revision: A 1 of 2



Hubbell Part
Number Description

XP24-3/4 X24-3/4 J3524-3/4
24" Cross Plate Anchor 
with 3/4" Nut Retainer

- - - 30 990 22x42x45

XP24 X24 J3524 
24" Cross Plate Anchor 
with 1" Nut Retainer

- - - 30 990 22x42x45

J3524-1 X24-1 J3524-1
24" Cross Plate Anchor 
with 1 1/4" Nut Retainer

- - - 30 990 22x42x45

XP24FG J3524FG - - - 30 990 22x42x45
K276 P4817 J4817 Pole Key - - - 60 1,500 28x45x29

Grip-Tite Utility Anchors (cont.)

Pallet Size
Grip-Tite Part 

Number
MacLean Part 

Number
Anchors / 

Carton
Carton / 

Pallet
Weight / 
Carton

Anchors / 
Pallet

Weight / 
Pallet

Effective Date: 8.13.2021
Revision: A 2 of 2


